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3 $EF |1500m 1 15 922 |)IIFRD 1§L 1 |LE8lS
3 7+ |3000m 1 7 29 |#K ER 2 [HEWS
3 7+ |3000m 1 16 19 [BE8 ®T 3 [tEEWS
3 7+ |3000m 1 17 25 | BH 2 [tEWS
3 7+ |3000m 1 18 28 |BE ®& 2 [tEWS
3 7+ |3000m 1 19 361 |HxB 8 1 |LE8lLS
3 7+ |3000m 1 20 362 |&H 2B 1 |LE8lLS
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3 7+ |3000m 1 43 364 |LB == 1 |LE8lLS
3 7+ |3000m 2 7 17 |EN  BXR 3 [LEEWS
3 7+ |3000m 2 8 365 |REB BE 1 |LE8lS
3 7+ |3000m 2| 23 21 =5 B= 2 [LEEWS
3 2+ |3000m 2| 24 24 |Bp RHE 2 [LEWS
3 7+ |3000m 2| 25 30 |WIl  BF 2 [LEWS
3 $EF |3000m 2 6 29 |XBF B 3 |taElls
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3 $EF |5000m 1 27 25 |t g3l 3 |taElls
3 $EF |5000m 1 28 715 |JUREB K 1 |HaWsS
3 $EF |5000m 1 29 716 |80 &R 1 |HaWsS
3 $EF |5000m 1 35 714 |8 EBR 1 |HaAWsS
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3 $EF |5000m 2 3 26 |B&R B 3 |taElls
3 EF |5000m 2 4 27 |\ 0= 3 |taElls
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3 ¥ |5000m 2 6 46 |KIE  BK 2 |talls
3 S+ |5000m 2 7 47 | IE 2 |talls
4 ZF |3000mSC | 1 7 39 |plE  RIRK XE—F
4 ZF |3000mSC | 1 8 35 |BH B% XE—F
5 $SF |800m 4 5 BOOO1 [Jllgg  1& -7 1—
6 EF |3000m 1 25 4433 |INF  ORE HEARAC
7 S+ |1500m 1 7 1875 |8 &% 2 |9BS
7 S+ |1500m 2| 14 1872 |& A5 2 |9BS
7 S+ |1500m 3 2 1861 | = 3 |2BES
8 ZF |3000m 1 14 684 [BK AR 1 |55
8 EF |5000m 1 12 666 |[BAX A 3 |55
9 B+ [3000m 1 4 304 | KW FHK 2 |tikES
9 B+ [3000m 1 5 312 |95  RBARS 2 |tikES
9 B+ [3000m 1 12 867 |[NWg  KE 1 | TIRES
9 B+ [3000m 1 33 302 |8 KT 2 |tikES
9 B+ [3000m 2| 25 306 | Dok 2 2 |tikES
9 B+ [3000m 2| 26 309 [ =K 2 |TIxES
9 B+ [3000m 2|1 27 868 |=iF MARB 1 |LTIES
9 B+ [3000m 2| 38 866 |&H  #5ER 1 |TIES
9 B+ [5000m 1 24 292 |ZLikx BB 3 |tikES
9 B+ [5000m 2|1 27 300 |[BN BKX 3 |tikES
9 B+ [5000m 2| 28 313 |[BB &k 2 |tikES
9 B+ [5000m 3 9 311 |ki& 7 2 |tikES
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9 $EF |5000m 4| 19 298 |@BN 63 3 |tikES
9 $EF |5000m 4| 20 303 |BFR BR 2 |TtikES
9 $EF |5000m 4| 21 310 | Y@ 2 |tikEs
9 $EF |5000m 5| 31 2906 |K#E 3 |tixES
9 $EF |5000m 5| 32 305 |ho&  Ex 2 |TikEs
10 EF |1500m 3 3 2354 |™ il 3 |ItES
11 $F |800m 6 2 109 |RE & 1 | BRFES
11 7+ |3000m 2| 21 42  |HEB  RD 1 |SHZFES
11 7+ |3000m 2| 39 32 |® 6% 3 |BEFES
11 7+ |3000m 2| 40 35 |EHB ([FdH 2 |BEFES
11 7+ |3000m 2| 41 37 |BE B2 2 |BEFES
11 7+ |3000m 2| 42 38 |B&x = 2 |BEFES
11 7+ |3000m 2| 43 39 |8& BS 1 | BEFES
11 7+ |3000m 2| 44 43 |1BHF  ¥®B 1 |SHFES
11 $EF |5000m 2| 25 96 |EBie X 2 |BEFES
11 $EF |5000m 2| 26 99 |AZ RA 2 |BEFES
11 $EF |5000m 3 2 86 |mH K 3 |BEFES
11 $EF |5000m 3 3 87 [l 3A% 3 |BEFES
11 $EF |5000m 3 4 88 |BE®2 #% 3 |BEFES
11 $EF |5000m 3 5 101 |B&E =N 2 |BEFES
11 $EF |5000m 3 6 108 |k =& 1 | BRFEE
11 $EF |5000m 3 7 110 (M2 —Mm 1 |SHZEES
11 $EF |5000m 3| 22 102 [WH KB 2 |BEFES
11 $EF |5000m 3| 35 90 |IRA =R 3 |BEFES
11 EF |5000m 4| 16 95 |BEB 5 2 |BEFES
11 S+ |5000m 41 17 98 |K&E ik 2 |BEFES
11 ¥ |5000m 4|1 18 100 |[FER  5F 2 |BEFES
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16 EF |3000m 1 1 3905 |6l KE 2 |RUS
16 EF |3000m 1 2 3946 |KFP  [EIE 1 |RUS
16 EF |3000m 1 26 3908 |[&H  #F3h 2 |RUS
16 EF |3000m 1 27 3945 |BH BXR 1 |RUS
16 B+ [3000m 1 28 3942 (@AWl  z=3 1 |RUS
16 B+ [3000m 1 29 3943 |[PWR =B 1 |RUS
16 B+ [3000m 1 39 3944 [ EH 1 |RUS
16 B+ [3000m 1 41 3947 |§B  Kig 1 |RUS
16 B+ [3000m 2| 44 3922 |AFPD R’ 3 |RWS
16 B+ [5000m 1 43 3925 |[AN S8 3 |RWS
16 B+ [5000m 1 44 3929 |HiE =IC 3 |RWS
16 B+ [5000m 2|1 17 3921 |8 EBA 3 |RWS
16 B+ [5000m 2|1 18 3936 |[AN  FEE 3 |RWS
16 B+ [5000m 2| 19 3930 |7 R 3 |RWS
16 B+ [5000m 2| 20 3923 |5 HLE 3 |RWS
17 B+ [1500m 4 4 1152 |@BX K 4 |[HEX
17 B+ [1500m 5 9 1153 |88 &X 4 [BEK
17 B+ [5000m 1 13 1153 |88 &X 4 |[HEX
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17 $EF |5000m 1 14 1152 |BX L 4 |[HERXR
17 $EF |5000m 1 15 1175 |68 B 4 |[HERXR
17 $EF |5000m 1 16 1165 |™ =X 3 |#EX
17 $EF |5000m 1 17 1169 |d)ll B8 3 |#EX
17 $EF |5000m 1 36 1174 |FIX  E= 2 |EEX
17 $EF |5000m 1 47 2208 |E@H #B— 1 |#HEX
17 $EF |5000m 2 8 1168 |{fH Rt 3 |#EX
18 $EF |5000m 3| 36 3323 |W&Xx E¥ 3 |kBS
19 7+ |3000m 2 5 168 |AR =l 3 |ERLZFhS
19 7+ |3000m 2|1 20 178 /B Bm 2 |BERLZFhRS
20 EF |3000mSC | 1 13 5-299 |—™ 5% 2 &KX
20 EF |3000mSC | 1 15 | 5277 |BEE  BA 3 [&KX
21 $F |800m S 5 1834 |E#  REl 2 |EBEX
21 $EF |5000m 2| 29 1846 |/\K &l 2 |EBEX
22 $EF |5000m 4 8 1 Bt &% 3 [Ne55
23 $F |800m 2 6 4584 |HEfR FET 2 |YonfERF=
23 $SF |800m 5 1 4562 |0 K 3 |UonBEEEF=
23 $EF |5000m 1 11 2286 |k 16t 1 | UmBEREE
24 EF |5000m 2 9 J85 |H\ HEX 1 |BXS
24 $EF |5000m 21 10 J107 [l Sike 1 |BXS
24 EF |5000m 4 1 J8O |REF gl 2 |BXS
24 EF |5000m 4 2 J82 |PE BH 1 |BXS
24 $EF |5000m 4 3 JO9O |#EB  F#3A 2 |BXS
24 EF |5000m 4 4 JO91 ;AN = 1 |BXS
24 EF |5000m 4 5 JO92 |ME B% 2 |BXS
24 $EF |5000m 4 6 J103 [Ox = 1 |BXS
24 $EF |5000m 4 7 J113 | RXK 1 |BXS
24 $EF |5000m 5| 13 J67 |¥1R  HIK 3 |ZXS
24 EF |5000m 5| 14 J68 |AW g 3 |ZXS
24 $EF |5000m 5| 15 J69 |EEF IEX 3 |ZXS
24 EF |5000m 5| 16 J70 |WF A0 3 |ZXS
24 £+ |5000m 5| 17 Jro |l BX 2 |BXS
24 £+ |5000m 5| 18 J106 [BARX =EA 2 |BXS
24 £+ |5000m 5| 38 J266 |(Pix  BE 1 |2X&
25 ZF |1500m 1 11 7429 | 8B 2 |REECES
25 ZF |1500m 2 1 7430 KXW EKFH 2 |REECES
25 ZF |1500m 3| 12 7445 (LI =R 3 |RECES
25 ZF |3000m 1 8 7441 |INE BB 3 |RECES
25 ZF |3000m 1 39 7443 |z =AL 3 |RECES
25 ZF |3000m 2| 26 7401 BBk =i 1 |REDECES
25 ZF |5000m 1 25 7442 |IN& @ BEF 3 |RECES
25 ZF |5000m 1 26 7431 |&B2 =1 2 |REECES
26 $F |800m 2 5 |[6-1890 [hea  [ES 2 |EREBMERK
26 £+ |1500m 1 16 |6-1885 |97 8% 6 |FEREIERK
26 EF |3000mSC | 1 22 |6-1885 |97 B 6 |FEREIERK
27 $EF |1500m 41 10 1546 |k &KX 1 [ KEX
27 $EF |1500m 5 10 1531 |IhA =i 3 | KEX
27 $EF |1500m 6| 10 15628 |@W &3l 3 | KEX
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27 EF [1500m 6| 11 1547 |RW @ 1 [ KEX
27 EF |3000mSC | 1 5 16560 |WO A 1 | KEX
27 $EF |5000m 2| 11 1551 |WAX && 1 | KEX
27 $EF |5000m 3| 23 1549 R  #Htb 1 | KEX
27 $EF |5000m 3| 37 1529 |BER =X 3 | KEX
27 $EF |5000m 5| 12 1528 |@Wl &3} 3 | KEX
27 $EF |5000m 5| 22 1526 |88 HA 3 | KEX
28 $SF |800m 1 7 1583 [Z# A8 2 | KX
28 $F |800m 4 4 1576 |FE T 3 | KX
29 $F |800m 3 6 656 |WK  3SABE 3 |BEFEX
29 $F |800m 6 6 667 |[BR B35 2 |BEfEX
30 ¥ |3000m 1 40 6651 |EBNy 853 1 |EAS
30 EF |3000m 1 35 2812 | KX BABR 3 |ESe
30 EF |3000m 1 37 2805 |RIl R% 1 |EAS
30 $EF |5000m 1 18 2808 |[TTAA & 3 |ES
30 $EF |5000m 1 30 2823 |l B 2 |FEs
31 ZF |800m 1 1 1202 | K# #®& 2 |BWX
31 EF |1500m 5| 13 1607 | 5 4 @WK
31 ¥ |3000m 1 28 1200 |BE =g 2 |BWX
32 ZF |800m 1 2 206 |tkix @B 2 |BEfX
32 5F |800m 6 7 607 |B&R F5 4 AKX
32 ¥ |1500m 3 6 214 |(A)Il ZFE 1 |E8XK
32 ¥ |1500m 3| 15 202 |BP E=F 2 |BEfX
32 EF |1500m 6 5 607 |B&R F5 4 AKX
32 EF |1500m 6 6 670 |k IN— 2 |BEfX
32 EF |1500m 6| 12 609 [fEE R 4 @K
32 EF |1500m 6| 13 610 |Jllp  fEX 4 ;X
32 ZF |3000m 1 30 216 |k =N 1 |E8FXK
32 ¥ |3000m 2| 27 201 (B8l 8Bx 2 |BEfX
32 ZF |3000m 2| 28 203 |8F%F =RE 2 |BEfX
32 ZF |5000m 1 13 212 2B EBE 1 |E8RXK
32 ZF |5000m 1 14 194 |/ T 3 |BEfX
32 ZF |5000m 1 20 215 |K8  £# 1 |E8RXK
32 ZF |5000m 1 21 195 |/%Ax 58 3 |BEfX
32 ZF |5000m 1 24 205 |BR T2 2 |BEfX
32 B+ [5000m 2|1 12 692 |H&E —F 2 |BEEAX
32 B+ [5000m 2|1 21 678 |EB =i 2 |BEEAX
32 B+ [5000m 2| 22 675 |NWHB B3 2 |BEEAX
32 B+ [5000m 4| 38 679 | ¥ 2 |BEEAX
32 B+ [5000m 5| 23 676 Bt ME 2 |BEEAX
33 ZF |1500m 3 8 5031 (2 B0 3 |REKMS
34 B+ [3000m 2| 23 M278 |SE B8 3 |2s
35 ZF |5000m 1 8 4258 |H& A 2 |BHEX
36 B |800m 2 3 910 |& #+5) 4 |[UDZMK
36 B+ |800m 4 2 922 |EBlks BX 2 |UDRRK
36 B+ |800m 5 5 923 |0 3RE0 2 |UDRRK
36 B+ [1500m 2 5 o921 BB EN 2 |UDRRK
36 B+ [1500m 2|1 17 927 |BR BX 2 |UDRRK
36 B+ [1500m 2| 18 935 |kO BE 2 |UDRRK
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37 EF |1500m 12 | 5-611 (LI FE= ==L N

37 $EF |1500m 14 | 5-638 |WF  Ki

37 $EF |1500m 15 | 5-1229 | KIN WS

38 EF |1500m S) 2324 |@Bif8 R

38 EF |1500m 4 497 |FEE f&

38 £+ |1500m 2 499 | B8
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38 $EF |5000m 13 2063 |8

i [ S| 5 | St
&

38 $EF |5000m 14 581 | A
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38 $EF |5000m 8 574 |38l EN

38 EF |5000m 21 575 |SN k&

38 $EF |5000m 2431 |5 =A

38 EF |5000m 25 2432 |3l 8

38 EF |5000m 22 501 |88 =

38 $EF |5000m 23 588 |[WE B
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40 EF |1500m g 4567 |ffB K3 Y onEERF=
41 S+ |1500m 1 387 |[BE %% =225

41 S+ |1500m 11 393 [IZ&X BA =225

41 S+ |1500m 17 390 |IgE W& =225

41 ZF |3000m 26 797 |FB X =225

41 $EF |3000m 6 394 |KI R =225

41 £+ |3000m 7 389 |AAB A =225

41 $EF |3000m 30 388 |AHF  =M0ES =225

41 $EF |3000m 38 435 |HFM@ B8 =225

41 £+ |5000m 39 207 |KPF3 & 225

41 £+ |5000m 15 281 |[WAX WY 225

42 ZF |800m 3 227 MR PRO ARWILS
42 B |800m 3 175 |[EF 8 ARWILS
42 EF |3000mSC 7 177 |fB  EA ARWILS
42 ZF |3000m 6 215 |[BAX B= ARWILS
42 ZF |3000m 29 218 [  BifE ARWILS
42 ZF |3000m 36 210 |[f8 NEE ARWILS
42 B+ [3000m 16 168 [WUAX  19R ARWILS
42 £+ |3000m 17 197 I K# ARWILS
42 B+ [3000m 18 193 |EAX @AY ARWILS
42 B+ [5000m 10 174 |IRO @BE ARWILS
42 £+ |5000m e 151 [PR £ ARWILS
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42 £+ |5000m 41 11 167 |WIR 5% 3 [FRWIS
43 7+ |3000m 2| 16 7786 |WAKR  MLHE 3 |uFEE
43 7+ |3000m 2| 17 7772 |88 KR 1 |XIF6E
43 7+ |3000m 2| 18 7785 |98 & 3 |uFEE
43 Z+ |5000m 1 7 7763 | XN %A 2 |FEE
44 EF |1500m 3 5 403 |8 J3e) M1 |REBK
44 £+ |5000m 3| 20 2505 |RE  BABR 1 |REK
45 $F |800m 3 2 327 |dth EZN 2 |REFES
45 $F |800m 3 4 316 |)IIB =& 3 |REFES
46 EF |1500m 2 8 1188 |5 Mk 3 |KIX
46 EF |1500m 2 9 1196 [P Hio 2 |KIX
46 EF |1500m 3| 10 2245 | KN RFH 1 | KIX
47 7+ |3000m 1 27 | 6-353 |¥B @ 1 |ODFEK
47 $EF |5000m 1 9 |[6-1150|=2% it 1 |ODFEK
47 $EF |5000m 1 25 | 6-1144 [} A0t 1 |ODFEK
47 $EF |5000m 1 40 |6-1147 |88 &K 1 |ODFEK
47 $EF |5000m 2| 23 |6-1149|=8B &3l 1 |ODFEK
47 $EF |5000m 2| 32 |6-1142 |5 WEsl 1 |ODFEKR
47 $EF |5000m 2| 33 |[6-1146 |(EB 1 |ODFEKR
47 $EF |5000m 3| 11 |6-1143 | Klg B3| 1 |ODFEK
48 EF |5000m 3| 38 135 |BE = 2 |[BHIX
48 EF |5000m 3| 39 134 |B P 2 |[BHIX
48 $EF |5000m 3| 40 133 |[B8 3 2 |[BHIX
48 EF |5000m 3| 41 625 |8 3§ 2 |[BHIX
49 ZF |800m 1 4 288 |UREB 85 1 |REX
49 S+ |1500m 4 5 947 LB =1 4 |REK
49 S+ |1500m 5| 17 956 (WO  KEi 3 |REX
49 S+ |1500m 6 8 946 |= Hl 4 |REK
50 EF |3000mSC | 1 6 5-235 |8 & D1 |88EK
51 ZF |1500m 1 5 6366 |[&8 EF 3 |RiEWS
51 ZF |1500m 1 6 6367 |[fay R 3 |RiEWUS
51 ZF |1500m 1 10 6365 |FU & 3 |RiEWS
51 ZF |1500m 2 2 6370 |l &B5F 2 |ZEWs
51 ZF |1500m 2 8 6364 |/RH =W 3 |RiEWS
51 ZF |1500m 2| 13 6371 |XBH = 2 |ZEWs
51 ZF |1500m 2|1 14 6380 |IIlE #F 1 | AEHUS
51 ZF |3000m 1 36 6363 |IkE ¥ 3 |REWS
51 B+ [3000m 1 14 2543 |WB  K¥ 1 | AEHUS
51 B+ [3000m 1 31 2530 |h& IRE2 1 | AEHUS
51 B+ [3000m 1 32 2541 (AW E 1 | AEHUS
51 B+ [3000m 1 42 2544 |RE BE 1 | AEHUS
51 B+ [5000m 2| 34 2531 |IBK BE 1 | AEHUS
51 B+ [5000m 2| 35 2532 |PE  I&N 1 | AEHUS
51 B+ [5000m 2| 36 2533 |A% 2 1 | AEHUS
51 B+ [5000m 5| 39 2513 |[WH  =EH 3 |REWS
51 B+ [5000m 5| 40 2514 |WIE &R 3 |REWS
51 B+ [5000m 41 15 2522 |18 AE 2 |Z#EWs
52 ZF |3000m 1 34 238 (Al &fE 2 |F&EX
52 ZF |5000m 1 34 239 |[HP |KkicF 2 |F&EX
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52 £+ |5000m 1 3 772 | KR 1D 2 |@EHX
52 EF |5000m 1 4 768 BB BX 2 |@EHX
52 £+ |5000m 1 5 760 B8 KA 2 |@EHX
52 £+ |5000m 1 10 2151 |REB E& 1 |E&HKR
52 £+ |5000m 1 19 2152 |81 K¥8 1 |E&HKR
53 EF |1500m 4| 12 2435 ok & 1 |3ZapK
o4 ZF |800m 1 6 2195 |fmAK  #¥E 4 |IZHRFER
54 $SF |800m 5 2 555 |HLE W3l 4 |Ix#EX
54 $SF |800m 5 3 499 |#BZR  BA 4 |Ix#EX
54 $F |800m S 4 537 |& SEEH 4 |Ix#EX
54 ¥ |1500m 2| 15 2415 |8 @E 2 |Ix#EX
54 ¥ |1500m 2| 16 2195 [/ #HE 4 |Ix#EX
54 EF |1500m 1 2 514 |\ %= 3 |IX#EX
54 EF |1500m 1 3 528 |WiE  F(C 3 |IX#EX
54 EF |1500m 1 4 559 |=EiE M 2 |Ix#EX
54 EF |1500m 2 1 594 |WE & 2 |Ix#EX
54 EF |1500m 2 2 871 |Bz &KX 1 |IR#EXR
54 EF |1500m 2 3 878 |BWE 5fh 1 |IR#EXR
54 EF |1500m 3| 14 465 |Pi&  3AB 4 |IR#EX
54 EF |1500m 3| 15 470 | SR 4 |IR#EX
54 EF |1500m 3| 16 479 |K  Bfc 4 |IR#EX
54 EF |1500m 3| 17 491 |[mHF  BE 4 |I#EX
54 EF |1500m 3| 18 588 |AB KB 2 |Ix#EX
54 EF |1500m 41 13 500 |®&W @K 4 |IREER
54 EF |1500m 41 14 572 |ki& k% 2 |Ix#EX
54 S+ |1500m 4| 15 849 |FPi;x  WE 1 |IR#EXR
54 EF |1500m 4| 16 857 |WE #%3 1 |IR#EXR
54 S+ |1500m 5 4 576 |[FR #B 2 |IX#EX
54 EF |1500m 5 5 902 KW & 1 |IR#EXR
54 S+ |1500m 5 6 468 | KB 6508 4 |I#EX
54 EF |1500m 5| 14 527 |WE < KX 3 |IX#EX
54 S+ |1500m 6| 16 467 |E¥TF VS8 4 |I#EX
54 EF |1500m 6| 17 476 | & 4 |I#EX
54 EF |1500m 6| 18 494 |ZB - 4 |I#EX
54 EF |3000mSC | 1 1 535 [ HIK 3 |IX#EX
54 EF [3000mSC | 1 2 548 [XK&X % 3 |IX#EX
54 EF [3000mSC | 1 3 587 |#I 8 2 |IX#EX
54 EF [3000mSC | 1 4 880 [fuls  &fm 1 |IR#EXR
54 BF [3000mSC | 1 8 516 |FE &M 3 |IX#EX
54 BF [3000mSC | 1 S 546 WA &2 3 |IX#EX
54 BF [3000mSC | 1 10 575 [BER RX 2 |IX#EX
54 BF [3000mSC | 1 11 567 |& FEARR 2 |IX#EX
54 B+ [3000m 1 15 532 |BLE ¥BE 3 |IX#EX
54 B+ [3000m 1 16 568 |BEZE BB 2 |IX#EX
54 B+ [3000m 1 17 593 (WA Ki# 2 |IX#EX
54 B+ [3000m 1 18 886 [B8E EN 1 |R#EX
54 B+ [3000m 1 19 896 |2 ME 1 |R#EX
54 B+ [3000m 2 3 488 M ST 4 |IRFER
54 B+ [3000m 2 4 526 [BK B% 3 |IX#FEX
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54 EF |3000m 2 < 843 |&i;x RY¥ 1 |R#EXR
54 EF |3000m 21 10 848 |FPix B 1 |R#EXR
54 EF |3000m 21 11 871 |8 #E 1 |R#EXR
54 EF |3000m 2|1 12 874 |#BFE B 1 |R#EXR
54 EF |3000m 2|1 13 884 |RB &= 1 |R#EXR
54 EF |3000m 2|1 30 538 |MA BX 3 |Ik#EX
54 EF |3000m 2|1 39 577 |BO  [EABB 2 |IR#EXR
55 $F |800m 4 1 B275 |E & EART
56 $SF |800m S 6 1798 |m% S8 3 | KBREEX
59 $EF |800m 1 2 2477 |D0E& LA 1 | KBrX
59 $F |800m 1 3 1958 |B% SR M1 | KBK
59 $F |800m 1 4 1985 |[AN W@ 4 | KBrX
59 $F |800m 1 S 1957 [EH B M1 | KBK
59 $F |800m 2 1 2483 |/t SAFE 1 | KBrX
59 $F |800m 2 7 2184 s EE 1 | KBrX
59 EF |1500m 4 6 1958 |B% SR M1 | KBRK
59 EF |3000mSC | 1 18 2481 |&lll  Ht 1 | KBrK
59 $EF |5000m 1 41 2474 |Iix BE 1 | KBrX
59 $EF |5000m 1 46 2000 |[KE —¥ 3 | KX
59 ZF |1500m 3| 16 1002 R EBEF 1 | KX
60 EF |5000m 5| 20 6—12 |AE ¢ 4 |BFEK
60 EF |5000m 5| 30 |6—120 |)II& &8k 1 |BFEX
60 $EF |5000m 5| 338 |6—122 |5 —F 1 |BFEX
60 ¥ |1500m 1 1 794 |AB ¥ 3 |BEFEIK
60 ZF |3000m 2 4 798 |E& &I 3 |BEFEIK
60 ¥ |3000m 2| 37 795 |[HKk @ BF 3 |BEFEIK
60 ZF |3000m 2| 38 792 |B - 4 |BEEESIK
61 ZF |3000m 2 6 517 |INER F& 3 |PHES
62 $F |800m 2 2 1346 |IbkW & 2 WS
62 $F |800m 2 4 1349 |ZiE B8R 2 WS
62 EF |1500m 1 8 1313 | MK 1 WS
62 S+ |1500m 1 e 1315 [BAR B3 1 WS
62 EF |1500m 1 13 1314 |85 B 1 WS
62 EF |1500m 3 1 1351 |[@H  BEE 2 WS
62 EF |3000mSC | 1 19 1353 [N RX 2 WS
62 EF [3000mSC | 1 20 1348 @B T 2 |MWS
62 EF [3000mSC | 1 21 1312 |58 9 1 WS
62 B+ [3000m 1 34 1347 |FE= =E 2 |MWS
62 B+ [3000m 2| 32 1345 |BHE #A 2 |MWS
63 B+ [5000m 1 32 1580 [mM& 80 2 | KX
63 B+ [5000m 1 33 1589 [ERAR KL 1 | KBEX
63 B+ [5000m 1 34 2322 |8l BX 1 | KBEX
63 B+ [5000m 2| 37 1568 |[IWww  f23l 4 | KBK
63 B+ [5000m 2| 38 1581 |D0iE  1GIR 2 | KX
63 B+ [5000m 2|1 39 2320 | K8 0t 1 | KBEX
63 B+ [5000m 4| 25 1569 |&# SR 4 | KK
63 B+ [5000m 4| 26 1575 |IRKR b8 3 | KX
63 B+ [5000m 41 27 1579 |£B Bt 2 | KX
63 B+ [5000m 4| 28 1586 |5 R 1 | KBEX




=S | Rl [EE il | U=V | BiFSs K 2 |z
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